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COMPUTER SCIENCE
PAPER - II (D-9)

Max. Marks : 50

Instructions (1) All questions ane compulsary.
() Figures to the right indicate fall marks.
(3) Draw neat diagrams wherever necessary.
(4} Use of any type of calcuiator is not allowed.
() Comments are must in Assembly Language Programs.

| Time : 3 Hours

|, (A) Seleet coreei options and rowile the following :

() The register in 8085 Microprocessor that keeps the uck of the
address of mext excentable instruction is . !
iy Program Counler
(i) Stack Pointer
{iii) Progmm Status Word
(iv) Instruction Register

(b) The PUSH PSW instruction of 8085 shall Ihe stack
poinier. 1
() Increment by twe bytes
(ii) Decroment by two bytes
(i) Un affect
{v) Mone of these

(c) BO51 Mic ller IC have number of § bit VO
ports. 1
W !

(i) 2
(i) 4
fiv) 8
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(1]

The mobile phone uses transmisuon technology
(i) Radwo

(v Microwave

{ux) Infrared

(rv) Satcllie

(B) Solve smy two of the following :

(a)

(b)
(cy

(=)

ib)

(5]

Explasn function of following pins of 808§ Microprocessor ©

® R

(1) HLDA

() INTR

Enlist three types of Hubs. Write its functions in ome sentenCt.
What is Microcontrollar 7 Write any two of its advantages over

Microprocessor

2 (A) Answer amy two of the following :

Write any three functions which accumulator perform other than
any other general purpose register in 5085 Microprocessor.
Considenng following points explain the given instruction.
Instruction. © LHLD 16 bil address

() Group of Instruction

(i)  Addressing Mode

(iii) Number of Bytes Roquired

(iv) Flags Affected

(v) Explain with an example

Sute three expanded features of 8052 over 8051 Micocontroller

(B) Answer mamy ome of the following :

(a)
®)

Explain any four ck ics of Ti ission Media.
Acrumulator contain data FFH and register B coumtain data 02H.
Write the stamus of various flags and comtent of accumulator afier
execution of ADD B instruction

3. (A) Solve amy two of the following :

(=)
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Write functions of following regisier of 8085 Microprocessor :
(i) Program Counter

(ii) Stack Pointer

(i) Temporary Register
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)

(b} Cive any two examples of following lbrming il

(1) Register Indirecy Addressing Mosds
(i) Direct Addreming Mode
(1) Immediste Addressing Mosde
(€)  What is mesnt by Protocol ? Explain concept of TCPAP protocol
Answer may sne of the following
()  Explain STAR snd RING Topolope with suitable diagram
(b)  Explain with disgtam memory regisier map of 8051 Microcontroller
Answer any fwe of the following
(a)  Disinguish between Masknble and Nonmasksble infermupts
any (hree pointa
(b)  The flag register of 8085 microprocessor contain dats SSH
Interpret ity meaning
() Distinguish betwoen STP and UTP cables. (Any thres points)
Answer any one of the following
(3)  Accumulator contain data ABH and register ) contain dats 5511 What
will be the contems of accumulsior afler execution of each
[ollowing instruction Independently ?
() XRAD
(i) CMP B
(i) ADD B
(iv) CMA
(b)  Expluin advantages of fullowing features of the Pentinum
Processor |
(i) Dual pipelining
(i) On-chip caches
(iii) Pranch prediction
(iv) 64 bit dala bus

5. Answer any two of the following -

(a)

)
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Wnle an Assembly Language Program to double the conmlents of each
memory location in the memory block sored from memory focation 12200
1o 1230H Store the resull at same memory location.

Write an Assembly Language Program (o check whether the given 16 bit
number stared in consccutive memory location beginming with lower byte
1200H is palindrome or nol.

It the number is palindrome then more FFH st 1210H memory location
otherwise slore OOH al same memory Joestion.

(™

s
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(¢) Stody the gven program and amswer (he quastions piven below

Label Maemenicy Operand
MV1 B.OAH
LX1 B 2000 H
MV1 A, 0IH

loop MOV MA
INX H
DCR B
iré stop
ADI 02H
IMP loop

slop HLT

(i) Write the purpose of the program.

(i) Wm:mme:mfuudnmuumudmwtwﬂn

(iii) Write the result along with ther corrosponding memoTy locations.
OR

Answer amy two of the following

(a) Write an Asscmbly Language Program for § bit number stored in memaTY
Jocation BABAH. Separate the two nibbles and multiply iL. Store the result
in memory location DADAH.

(b) Write an Asscmbly Language

Program to find the sum of serix Length
of series is stored in memory location 1500H snd senies

begins from memory

location 1501H.
Store the 16 bil sum from memory luuﬁmlﬁm}!hg:n'ngﬂmw-u
arder byte.
(© Smdytbegjvcnplwimmdmwtt:qm;imhdmv:
STC
cMC
LX1 B, 1234i
MOV A, B
RAR
MOV H, A
MOV A, C
RAR
MOV L, A
HLT

(iii) Write comments of various instructions used in the program.
-
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